9783-NPA RM installation Book.2 10/3/0 1:38 PM Page 1

NSK Precision America, Inc.

US Headquarters &
Manufacturing Facility

3450 Bearing Drive
Franklin, IN 46131
tel: 1-800-255-4773

NSK PRECISION AMERICA, INC.

www.nskprecision.com

Worldwide Sales Offices

NSK Ltd.-Headquarters, Tokyo, Japan k.com
Americas & Europe Department el 03-3770-7120
Asia Marketing & Sales Department tel: 03-3779-7121

Afric:

South Afri

NSK South A'rlca (Pty) Ltd.

Johannesburg tel: (011) 458 3600

Asia and Oceania

Australia: ‘www.nskaustralia.com.au

NSK Australia Pty. Ltd.

Melbourne tel: (03) 9764-8302
ina:

NSK Hong Kong Ltd.

Hong Kong tel: 2739-9933

Kunshan NSK Co,, Ltd.

Kunshal tel: 0520-7305654

GuiZhou HS NSK Bearings Co., Ltd.

Anshu tel: 0853-3521505

NSK (Shanghal) Trading Co., Ltd.

Shanghai tel: 021-62099051

NSK represenlanve office

Beijing tel: 010-6590-8161

NSK representative office

Shanghai tel: 21-6209-9051

NSK represenlanve office

Guangzhou tel: 020-8732-0583

NSK representative office

Anshun tel: 0853-3522522

India:

Rane NASTECH Ltd.

Chennai tel: 04114-65313, 65314, 65365, 66002

NSK representative office

Chennai tel: 044-4334732

Indonesia:

PT. NSK Bearings Manufacturing Indonesia

Jakarta tel: 021-898-0155

Korea:

NSK Korea Co,, Ltd.
Seoul tel: 02-3287-0300
NSK Korea Co., Ltd., Changwon Plant

Changwon tel: 0551-287-6001
Malaysia:

NSK Bearings (Malaysia) Sdn. Bhd.

Kuala Lum tel: 03-7958-4396

NSK Micro Preclslon (M) Sdn. Bhd.
Kuala Lumpur

New Zealand:

NSK New Zealand Ltd.

Auckland

tel: 03-961-6288
www.nsk-rhp.co.nz

tel: (09) 276-4992

Philippines:
NSK representative office
Manila

Singapore:

p
NSK International (Singapore) Pte Ltd.

Singapore
NSK Singapore (Pte) Ltd.
Slngapore

Ta\wan NSK Precision Co., Ltd.
Taipei

Thailand:

NSK Bearings (Thailand) Co., Ltd.
Bangkok

tel: 02-759-6246

tel: (65) 273 0357

tel: (65) 278 1711

tel: 02-2591-0656

tel: 02-6412150~58

NSK Safety Technology (Thailand) Co., Ltd.

Chonburi

Siam NASTECH Co., Ltd.
Chachoengsao

Europe

NSK Europe Ltd.
(European Headquarters)
Maidenhead, England
France:

NSK France S.A.

Paris

Germany:

NSK Deutschland Gmbh
Dusseldorf

NSK Steering Systems Europe Ltd.
Stuttgart

Neuweg Fertigung Gmbh
Munderkingen

Italy:

NSK ltalia S.PA.

Milano

Poland:

tel: (038) 214-317-8

tel: (038) 522-343~350

‘www.eu.nsk.com
tel: 0162-850-9800

tel: 01 30 57 39 39

tel: 02102-481-0
tel: 0771-79082-277

tel: 07393-540

tel: 02-995-191

NSK Europe Ltd. Warsaw Liaison Office

Warsaw

NSK Iskra S.A.
Kielce

Spain:

NSK Spain S.A.
Barcelona

fel: 48-22-645-1525, 1526

tel: 48-41-366-6111

tel: 93-575-4041

Turkey:
NSK Bearings Middle East Trading Co., Ltd.
Istanbul tel: 90-216-442-7106

United Kingdom:

NSK Bearings Europe Ltd.
Peterlee, England

NSK UK Ltd.

Newark, England

NSK Steering Systems Europe Ltd
Coventry, England

North and Sou!h America

tel: 0191-586-6111

tel: 0163-660-5123

tel: 024-76-588588

NSK nc. (. ters)
Ann Arbor, Mlchlgan US.A. tel: 734-913-7500
Argentina:

NSK Argentina SRL

Buenos Aires tel: 011-4762-6556

Brazil: ‘www.br.nsk.com
NSK Brasil Ltda.

Sao Paulo tel: 011-3269-4700
Canada: www.ca.nsk.com
NSK Canada Inc.

Toronto tel: 905-890-0740
Mexico:

NSK Rodamientos Mexicana, S.A. de C.V.

Mexico City tel: 5-301-2741
United States of America: www.us.nsk.com

NSK Corporation
Ann Arbor, Michigan

Sales Offices:

Ann Arbor, Michigan

Santa Fe Springs, California
NSK American Technical Center
Ann Arbor, Michigan
NSK Precision America, Inc.
Franklin, Indiana
San Jose, California

tel: 734-913-7500

tel: 734-913-7500
tel: 562-968-1000

tel: 734-913-7500

tel: 317-738-5038
tel: 408-944-9400
www.npa.nsk.com
NKS Steering Systems America
Bennington, Vermont

NSK Latin America Inc.

Miami, Florida

tel: 802-442-5448
‘www.la.nsk.com
tel: (305) 477-0605

NSK Ltd. has a basic policy not to export any products or technology designated as controlled items by export-related laws. When exporting the products in this brochure, the
laws of the exporting country must be observed. Specifications are subject to change without notice and without any obligation on the part of the manufacturer. Every care has
been taken to ensure the accuracy of the data contained in this brochure, but no liability can be accepted for any loss or damage suffered through errors or omissions. We will

gratefully acknowledge any additions or corrections.

Robot Module MR Series Installation Book 2005 Printed in Canada ©NSK 2005.

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com



9783 -NPA RM installation Book.2 10/3/0%1:38 PM Page 2

MOTION & CONTROL

NSK

Assembly and Installation
of NSK Robot Module™
MR Series

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

e



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 3

1.0 Introduction

Congratulation on purchasing your NSK Robot Module. Your NSK Robot module
is made from our high quality linear guides and ballscrews for maximum
performance and reliability.

2.0 Purpose
This installation guide is intended to provide you with detailed instructions
on how to mount and assemble your Robot Module Hardware.

The guide is split up into several sections:

1) Module construction
2) Installation precautions

3) Lifting and transporting requirements

5) Maintenance

)
)
)

4) Robot module mounting
)

6) Assembling 2 axis systems
)

7) Assembling 3 axis systems

3.0 Module Gonstruction

Module Mounting
Plate (Accessory)

Motor
Mounting
Interface

Module Main Body

T-Slots for Mounting
Accessories

-

~

)

1

C 1-800-255-4773

)

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

e



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 4

3.1 Installation

3.2 Installation Precautions

1) Follow all rules and recommendation defined herein.

2) The Robot Module is a precision device and requires careful handling.
3) Install Robot Module on a smooth, finished surface. Flatness < 0.1mm
4) Use mounting screw engagement lengths defined herein.

5) Do not disassemble the robot module.

6) Keep Robot Module away from water and oil splash.

3.3 Lifting and Transporting

1) Use sling or other appropriate lifting equipment to move individual modules
or multi-axis systems.

4 N

- /

( www.nskprecision.com ) NSK 2

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

S



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 5

3.4 Mounting the Rohot Module

There are two methods for mounting the robot module to the work surface:

1) Direct mounting using tapped holes on underside of Module.
2) Mounting with Module Mounting Plates.

3.4.1 Direct mounting using tapped holes
on underside of Module

1) Drill through holes in mounting base.

2) Fix module to base using underside holes in Robot Module.
3) Use bolt engagement depths per table below.

/

/ /
/ == 7

Module main unit —7— ]
// ~//
[/ /

Mounting base

Screw-in depth

Hexagon socket cap screw

-

)

RH Module RM Module RS Module
Bolt Size M8 M6 M5
Thread Engagement 12-16mm 9-12mm 7-9mm
Tightening Torque 33.3N-m 14.7N-m 5.9N-m
3 C 1-800-255-4773

)

S

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 6

3.4.2 Mounting with Module Mounting Plates

1) Attach mounting plates to underside of Robot Module using supplied fasteners.

)
2) Transfer mounting hole pattern from mounting plates to base.
3) Drill and tap mounting holes into mounting base.

)

4) Fix module to mounting base.

3.4.3 Mounting tooling to Robhot Module Slider

1) Mount tooling to slider using bolts per table.

RH Module RM Module RS Module
Bolt Size M8 M6 M5
Thread Engagement 12-16mm 9-12mm 6-8mm
Tightening Torque 33.3N-m 14.7N-m 5.9N-m

3.5 Maintenance

Perform these daily maintenance checks.

1) Check for looseness of mounting bolts. Re-tighten as necessary.
2) Check for looseness of tooling mounting bolts. Re-tighten as necessary.

( www.nskprecision.com )

4

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

e



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 7

4.0 Installation of 2 Axis Gomhination
4.1 — RG-MS Combination

/

Socket Head Cap Screw
Mé x 18 long 4 pcs
Tightening torque 14.7N-m

Socket Head Cap Screw
M5 x 16 long 4 pcs
Tightening torque 5.9N-m

\ Mount fixed module to mounting surface per section 3.4

Material List for RG-MS Combination

Part Number Qty
X Axis Module XY-HRS0*5-RM*SNF 1
X Axis Motor Mounting Kit XY-P****RM 1
Y Axis Module XY-HRS0*0-RS1R*F 1
XY-P175GMS-1 1
XY Combining Bracket RGMS-1 Bracket, Qty 1
ining C M6 x 18 Lg Socket Head Cap Screw, Qty 4
M5 x 16 Lg Socket Head Cap Screw, Qty 4
Options
Part Number Qty
Limit Sensor Kit, X Axis XY-L3543RM 1
Limit Sensor Kit, Y Axis XY-L3544RM 1
XY-P170M-1 2
X Axis Module Mounting Plate RM Module Mounting Plate, Qty 1
M6 x 20 Lg Socket Head Cap Screw, Qty 4
Square Nut Kit XY-P170M3-1 (4 nuts per kit) 1
5 C 1-800-255-4773 )]

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

e



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 8

4.2 - RG-HM Gombination
/

-

Material List for RG-HM Combination

Socket Head Cap Screw
M8 x 20 Long 4 pcs
Tigthening Torque 33.3N-m

Mount fixed module to mounting surface per section 3.4

Socket Head Cap Screw
Mé x 20 Long 4 pcs
Tigthening Torque 14.7N-m

~

X Axis Module Mounting Plate

Square Nut Kit

RH Module Mounting Plate, Qty 1
M8 x 20 Lg Socket Head Cap Screw, Qty 4
XY-P170M3-1 (4 nuts per kit)

Part Number Qty
X Axis Module XY-HRS0*0-RH*SNF 1
X Axis Motor Mounting Kit XY-P****RM 1
Y Axis Module XY-HRS0*5-RM*SNF 1
Y Axis Motor Mounting Kit XY-P****RM 1
XY-P175GHM-1 or XY-P175GHM-2 1
XY Combining Bracket RGHM-1 or RGHM-2 Bracket, Qty 1
M8 x 20 Lg Socket Head Cap Screw, Qty 4
M6 x 20 Lg Socket Head Cap Screw, Qty 4
Options
Part Number Qty
Limit Sensor Kit, X Axis XY-L3542RM 1
Limit Sensor Kit, Y Axis XY-L3543RM 1
XY-P170H-1 2

C

www.nskprecision.com

)

6

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

e



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 9

4.3 - RD-MS Combination

Socket Head Cap Screw
Mé x 16 Long 4

/ 3 pcs \’
Tightening Torque 14-7N'mw ' RS Module
|
I

Socket Head Cap Screw
M5 x 18 Long 4 pcs
Tightening Torque 5.9N-m
XY-P175DMS-1

Note: See appendix
for pin installation
instructions.

\ Mount fixed module to mounting surface per section 3.4

Material List for RD-MS Combination

Part Number Qty
X Axis Module XY-HRS0*5-RM*SNF 1
X Axis Motor Mounting Kit XY-P****RM 1
Y Axis Module XY-HRS0*0-RS1**F 1
XY-P175DMS-1 1
RDMS-1 Bracket, Qty 1
XY Combining Bracket M6 x 16 Lg Socket Head Cap Screw, Qty 8
M5 x 18 Lg Socket Head Cap Screw, Qty 4
8mm diameter x 18Lg Pin, Qty 1
8mm diameter x 20Lg Diamond Pin, Qty 1
Options
Part Number Qty
Limit Sensor Kit, X Axis XY-L3543RM 1
Limit Sensor Kit, Y Axis XY-L3544RM 1
XY-P170M-1 2
X Axis Module Mounting Plate RM Module Mounting Plate, Qty 1
M6 x 20 Lg Socket Head Cap Screw, Qty 4
Square Nut Kit XY-P170M3-1 (4 nuts per kit) 1
7 ( 1-800-255-4773 )

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

e



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 10

4.4 — RD-HM Combination

/

Socket Head Cap Screw
M8 x 25 Long 4 pcs

g I
Tightening Torque 33,3Nm\'F
I
I
I

XY-P175DHM-1

Socket Head Cap Screw
Mé x 20 Long 4 pcs !

Tightening Torque 1 4,7N—m\‘ﬁ

\ Mount fixed module to mounting surface per section 3.4

)

Material List for RD-HM Combination

X Axis Module Mounting Plate RH Module Mounting Plate, Qty 1
M8 x 20 Lg Socket Head Cap Screw, Qty 4

Square Nut Kit XY-P170M3-1 (4 nuts per kit)

Part Number Qty
X Axis Module XY-HRS0*0-RH*SNF 1
X Axis Motor Mounting Kit XY-P****RM 1
Y Axis Module XY-HRS0*5-RM*SNF 1
Y Axis Motor Mounting Kit XY-P****RM 1
XY-P175DHM-1 1
XY Combining Bracket RRLINMAREECkebIC A
M8 x 25 Lg Socket Head Cap Screw, Qty 4
M6 x 20 Lg Socket Head Cap Screw, Qty 4
Options
Part Number Qty
Limit Sensor Kit, X Axis XY-L3542RM 1
Limit Sensor Kit, Y Axis XY-L3543RM 1
XY-P170H-1 2

( www.nskprecision.com

)

8

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

e



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 11

4.5 — RX-HM GCombination

/

Socket Head Cap Screw
M8 x 20 Long 4 pcs
Tightening Torque 33.3N-m

XY-P175XHM-1

Socket Head Cap Screw
Mé x 20 Long 4 pcs
Tightening Torque 14.7mew/

\ Mount fixed module to mounting surface per section 3.4

Material List for RX-HM Combination

Part Number Qty
X Axis Module XY-HRS0*0-RH*SNF 1
X Axis Motor Mounting Kit XY-P****RM 1
Y Axis Module XY-HRS0*5-RM*SNF 1
Y Axis Motor Mounting Kit XY-P****RM 1
XY-P175XHM-1 1
XY Combining Bracket A MEIEHEC REA
M8 x 20 Lg Socket Head Cap Screw, Qty 4
M6 x 20 Lg Socket Head Cap Screw, Qty 4
Options
Part Number Qty
Limit Sensor Kit, X Axis XY-L3542RM 1
Limit Sensor Kit, Y Axis XY-L3543RM 1
XY-P170H-1 2
X Axis Module Mounting Plate RH Module Mounting Plate, Qty 1
M8 x 20 Lg Socket Head Cap Screw, Qty 4
Square Nut Kit XY-P170M3-1 (4 nuts per kit) 1
9 C 1-800-255-4773 )]

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

e



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 12

4.6 — RG-MS Combination

Socket head Cap Screw
M8 x 20 Long 4 pcs
Tightening Torque 33.3N-m

Socket head Cap Screw
Mé x 20 Long 4 pcs
Tightening Torque 14.7N-m

~

RM Module

Socket head Cap Screw
Méx 12 Lo

XY-P175CMS-1 PART A
ng 4 pcs
Tightening Torque 11.7N-m

NOTE: See Appendix
for Pin Installation
Instructions

XY-P175CMS-1 PART B

XY-P175XHM-1

Socket head Cap Screw
M5 x 12 Long 4 pcs
Tightening Torque 5.9N-m

cheT head Cap Screw

M5 x 18 Long 4 pcs
Tightening Torque 5.9N-m

\ Mount fixed module to mounting surface per section 3.4 /

Material List for RC-MS Combination

Part Number Qty
X Axis Module XY-HRS0*5-RM*SNF 1
X Axis Motor Mounting Kit XY-P****RM 1
Y Axis Module XY-HRS0*0-RS1**F 1
XY-P175CMS-1 1
RCMS-1 Bracket, Qty 1
M5 x 12 Lg Socket Head Cap Screw, Qty 4
XY Combining Bracket M5 x 18 Lg Socket Head Cap Screw, Qty 4
M6 x 10 Lg Socket Head Cap Screw, Qty 4
M6 x 12 Lg Socket Head Cap Screw, Qty 4
8mm diameter x 22Lg Pin, Qty 1
8mm diameter x 25Lg Diamond Pin, Qty 1
Options
Part Number Qty
Limit Sensor Kit, X Axis XY-L3543RM 1
Limit Sensor Kit, Y Axis XY-L3544RM 1
XY-P175XHM-1 1
X Axis Module Mounting Plate Ehal, o) Iefrete G U7
M8 x 20 Lg Socket Head Cap Screw, Qty 4
M6 x 20 Lg Socket Head Cap Screw, Qty 4
Square Nut Kit XY-P170M3-1 (4 nuts per kit) 1

( www.nskprecision.com )

10

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

e



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 13

4.7 — RX-HH Combination

/

Socket Head Cap Screw
M8 x 20 Long 2 pcs
Tightening Torque 33.3N-m

Socket Head Cap Screw
M8 x 25 Long 4 pcs e

Tightening Torque 33‘3N—m~x?/ -
Socket Head Cap Screw
M8 x 25 Long 2 pcs

Tightening Torque 33.3N-m |

\ Mount fixed module to mounting surface per section 3.4

Material List for RX-HH Combination

Part Number Qty
X Axis Module XY-HRS0*0-RH*SNF 1
X Axis Motor Mounting Kit XY-P****RM 1
Y Axis Module XY-HRS0*0-RH*SNF 1
Y Axis Motor Mounting Kit XY-P****RM 1
XY-P175XHH-1 1
XY Combining Bracket i iEE ks PEGAL
M8 x 20 Lg Socket Head Cap Screw, Qty 2
M8 x 25 Lg Socket Head Cap Screw, Qty 6
Options
Part Number Qty
Limit Sensor Kit, X Axis XY-L3542RM 1
Limit Sensor Kit, Y Axis XY-L3542RM 1
XY-P170H-1 2
X Axis Module Mounting Plate RH Module Mounting Plate, Qty 1
M8 x 20 Lg Socket Head Cap Screw, Qty 4
Square Nut Kit XY-P170M3-1 (4 nuts per kit) 1
11 ( 1-800-255-4773 )]

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

e



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 14

5.0 Installation of 3 Axis Gomhinations
5.1 — RP-HMS Combination

M6x 16 L

Socket Head Cap Screw

6% 16 Long 4 pes
Tightening Torque 14.7N-m

XY-P175DMS-1
Note: See appendix for
pin installation instructions

RS Module

Socket Head Cap Screw
X 20 L

M ng 4 pc:
Tightening Torque 14.7N-m
Socket Head Cap Screw. ! X
M8 x 20 Long 4 pcs I -

Tightening Torque 33.3N-m: ‘

RM Module

Socket Head Cap Screw

M5 x 18 Long 4 pcs.
Tightening Torque 5.9N-m

\ Mount fixed module to mounting surface per section 3.4

Material List for RP-HMS Combination

Part Number Qty
X Axis Module XY-HRS0*0-RH*SNF 1
X Axis Motor Mounting Kit XY-P****RM 1
Y Axis Module XY-HRS0*5-RM*SNF 1
Y Axis Motor Mounting Kit XY-P****RM 1
Z Axis Module XY-HRS0*0-RS1**F 1
XY-P175GHM-1 or XY-P175GHM-2 1
XY Combining Bracket RGHM-1 or RGHM-2 Bracket, Qty 1
M8 x 20 Lg Socket Head Cap Screw, Qty 4
M6 x 20 Lg Socket Head Cap Screw, Qty 4
XY-P175DMS-1 1
RDMS-1 Bracket, Qty 1
YZ Combining Bracket M5 x 18 Lg Socket Head Cap Screw, Qty 4
M6 x 16Lg Socket Head Cap Screw, Qty 8
8mm diameter x 18Lg Pin, Qty 1
8mm diameter x 20Lg Diamond Pin, Qty 1
Options
Part Number Qty
Limit Sensor Kit, X Axis XY-L3542RM 1
Limit Sensor Kit, Y Axis XY-L3543RM 1
Limit Sensor Kit, Z Axis XY-L3544RM 1
XY-P170H-1 2
X Axis Module Mounting Plate RH Module Mounting Plate, Qty 1
M8 x 20 Lg Socket Head Cap Screw, Qty 4
Square Nut Kit XY-P170M3-1 (4 nuts per kit) 1

( www.nskprecision.com

)

12

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

e



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 15

5.2 — RP-MSS Combination

XY-P175DSS-1

Instructions

Socket Head Cap Screw
Méx 12 Long 4 pcs
Tightening Torque 14.7N-m

NOTE: See Appendix
for Pin Installation

Socket Head Cap Screw
M5 x 12 Long 4 pcs
Tightening Torque 5.9N-m

Socket Head Cap Screw
Mé x 18 Long 4 pcs
Tightening Torque 14.7N-m

Socket Head Cap Screw

_e@ M5x 16Long 4 pcs
T\ghvemng Torque 5.9N-m
° N

\ Mount fixed module to mountin surface per section 3.4

Material List for RP-MSS Combination

~

Part Number Qty
X Axis Module XY-HRS0*5-RM*SNF 1
X Axis Motor Mounting Kit XY-P****RM 1
Y Axis Module XY-HRS0*0-RS1R*F 1
Z Axis Module XY-HRS0*0-RS1L*F 1
XY-P175GMS-1 1
XY Combining Bracket FlehhE Sieel B
M5 x 16 Lg Socket Head Cap Screw, Qty 4
M6 x 18 Lg Socket Head Cap Screw, Qty 4
XY-P175DSS-1 1
RDSS-1 Bracket, Qty 1
YZ Combining Bracket M5 x 18 Lg Socket Head Cap Screw, Qty 8
M6 x 10Lg Socket Head Cap Screw, Qty 8
8mm diameter x 18Lg Pin, Qty 1
8mm diameter x 20Lg Diamond Pin, Qty 1
Options
Part Number Qty
Limit Sensor Kit, X Axis XY-L3543RM 1
Limit Sensor Kit, Y Axis XY-L3544RM 1
Limit Sensor Kit, Z Axis XY-L3544RM 1
XY-P170M-1 2
X Axis Module Mounting Plate RM Module Mounting Plate, Qty 1
M6 x 20 Lg Socket Head Cap Screw, Qty 4
Square Nut Kit XY-P170M3-1 (4 nuts per kit) 1

13 C

1-800-255-4773

)

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

e



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 16

5.3 — RJ-HMS Combination

XY-P175CMS-1 PART A
NOTE: See Appendix for
Pin Installation Instruction

Socket Head Cap Screw
x 12 Long 4 pcs
Tightening Torque 11.7N-m

Socket Head Cap Screw
M8Xx 20 Long 4 pcs XY-P175CMS-1 PART B
Tightening Torque 33.3N-m

RS Module

Socket Head Cap Screw
Méx 20 Long 4 pcs
Tightening Torque 14.7N-m

Socket Head Cap Screw
M5 x 18 Long 4 pcs
Tightening Torque 5.9N-m
Socket Head Cap Screw

M5x 12 Long 4 pcs
Tightening Torque 5.9N-m

\ Mount fixed module to mounting surface per section 3.4

Material List for RJ-HMS Combination

Part Number Qty
X Axis Module XY-HRS0*0-RH*SNF 1
X Axis Motor Mounting Kit XY-P****RM 1
Y Axis Module XY-HRS0*5-RM*SNF 1
Y Axis Motor Mounting Kit XY-P***RM 1
Z Axis Module XY-HRS0*0-RS1**F 1
XY-P175XHM-1 1
XY Combining Bracket Ol e Gl Gy
M8 x 20 Lg Socket Head Cap Screw, Qty 4
M6 x 20 Lg Socket Head Cap Screw, Qty 4
XY-P175CMS-1 1
RCMS-1 Bracket, Qty 1
M5 x 12 Lg Socket Head Cap Screw, Qty 4
YZ Combining Bracket M5 x 18 Lg Socket Head Cap Screw, Qty 4
M6 x 10Lg Socket Head Cap Screw, Qty 4
M6 x 12Lg Socket Head Cap Screw, Qty 4
8mm diameter x 22Lg Pin, Qty 1
8mm diameter x 25Lg Diamond Pin, Qty 1
Options
Part Number Qty
Limit Sensor Kit, X Axis XY-L3542RM 1
Limit Sensor Kit, Y Axis XY-L3543RM 1
Limit Sensor Kit, Z Axis XY-L3544RM 1
XY-P170H-1 2
X Axis Module Mounting Plate RH Module Mounting Plate, Qty 1
M8 x 20 Lg Socket Head Cap Screw, Qty 4
Square Nut Kit XY-P170M3-1 (4 nuts per kit) 1
( www.nskprecision.com )

14

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

e



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 17

Appendix - Pin Installation Instructions
XY-P175DSS-1

/

-

DETAIL A
SCALE1:1

Pin Orientation Pin Orientation

DETAIL B
SCALE1:1

XY-P175DMS-1

/

DETAIL A
SCALE1:1

Pin Orientation Pin Orientation

DETAIL B
SCALE1:1

15

C

1-800-255-4773

)

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

e



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 18

XY-P175CMS-1 PART A

/

Pin Orientation Pin Orientation

DETAIL B
SCALE1:1

DETAIL A
SCALET:1
o o o o
A o
() o
10~
) oo

° 0 %SL o

=
)

( www.nskprecision.com

)

16

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

e



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 19

Assembly and Installation
Notes

17 C 1-800-255-4773 D)

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

S



9783-NPA RM installation Book.2 10/3/0%1:38 PM Page 20

( www.nskprecision.com ) 18
Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com






